



HAL
open science

The expected signature of Brownian motion stopped on the boundary of a circle has finite radius of convergence

Horatio Boedihardjo, Joscha Diehl, Marc Mezzarobba, Hao Ni

► To cite this version:

Horatio Boedihardjo, Joscha Diehl, Marc Mezzarobba, Hao Ni. The expected signature of Brownian motion stopped on the boundary of a circle has finite radius of convergence. *Bull. London Math Soc.*, 2021, 53 (1), pp.285-299. 10.1112/blms.12420 . hal-02145359

HAL Id: hal-02145359

<https://hal.science/hal-02145359v1>

Submitted on 31 Oct 2020

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.



The expected signature of Brownian motion stopped on the boundary of a circle has finite radius of convergence

Horatio Boedihardjo, Joscha Diehl, Marc Mezzarobba and Hao Ni

ABSTRACT

The expected signature is an analogue of the Laplace transform for probability measures on rough paths. A key question in the area has been to identify a general condition to ensure that the expected signature uniquely determines the measures. A sufficient condition has recently been given by Chevyrev and Lyons and requires a strong upper bound on the expected signature. While the upper bound was verified for many well-known processes up to a deterministic time, it was not known whether the required bound holds for random time. In fact, even the simplest case of Brownian motion up to the exit time of a planar disc was open. For this particular case we answer this question using a suitable hyperbolic projection of the expected signature. The projection satisfies a three-dimensional system of linear PDEs, which (surprisingly) can be solved explicitly, and which allows us to show that the upper bound on the expected signature is *not* satisfied.

Contents

1. Introduction	1
2. Differentiability of the development of expected signature	5
3. A polar decomposition for the development	7
4. ODE for $A_\lambda, B_\lambda, C_\lambda$	8
5. Solving the ODE for $A_\lambda, B_\lambda, C_\lambda$	10
6. Conclusion	12
Appendix	13
References	15

1. Introduction

Let a probability measure on a subset of the real line have moments of all orders. Under which conditions do these moments pin down the probability measure uniquely? This is the well-studied *moment problem*. When the subset is compact, the answer is always affirmative. In the noncompact case uniqueness is more delicate (see [14]).

In stochastic analysis one is usually concerned with measures on some space of paths, the prime example being *Wiener measure* on the space of continuous functions. It turns out that for many purposes a good replacement for ‘monomials’ in this setting are the iterated integrals of paths. The collection of all of these integrals is called the *iterated-integrals signature*.

Received 5 February 2020; revised 31 August 2020.

2010 *Mathematics Subject Classification* 33C10, 60B15, 60H05 (primary).

H. Boedihardjo gratefully acknowledges EPSRC’s support (EP/R008205/1). M. Mezzarobba was supported in part by ANR grant ANR-14-CE25-0018-01 (FastRelax). H. Ni acknowledges the support by the EPSRC under the program grant EP/S026347/1 and by the Alan Turing Institute under the EPSRC grant EP/N510129/1.

© 2020 The Authors. *Bulletin of the London Mathematical Society* is copyright © London Mathematical Society. This is an open access article under the terms of the [Creative Commons Attribution](#) License, which permits use, distribution and reproduction in any medium, provided the original work is properly cited.

For smooth paths $X : [0, T] \rightarrow \mathbb{R}^d$ (and with respect to a time horizon $T > 0$), it is defined, using Riemann–Stieltjes integration, as

$$\begin{aligned} S(X)_{0,T} := & 1 + \int_0^T dX_s + \int_0^T \int_0^{r_2} dX_{r_1} \otimes dX_{r_2} \\ & + \int_0^T \int_0^{r_3} \int_0^{r_2} dX_{r_1} \otimes dX_{r_2} \otimes dX_{r_3} + \cdots \in T((\mathbb{R}^d)) := \prod_{n=0}^{\infty} (\mathbb{R}^d)^{\otimes n}. \end{aligned} \quad (1)$$

It is well known (see [1] and references therein) that

- $S(X)_{0,T} \in G$, where $G \subset T((\mathbb{R}^d))$ is the group of *grouplike elements*;
- $S(X)_{0,T}$ completely characterizes the path X up to reparametrization and up to tree-likeness.

Let $X : \Omega \times [0, T] \rightarrow \mathbb{R}^d$ now be a stochastic process. For fixed $\omega \in \Omega$, $t \mapsto X_t(\omega)$ is usually *not* smooth, so that we have to assume that the stochastic process possesses a ‘reasonable’ integration theory.

In particular assume that integrals of the form $\int g(X_s) dX_s$, exist for a large class of functions $g \in C(\mathbb{R}^d, L(\mathbb{R}^d, \mathbb{R}^n))$ and that the fundamental theorem of calculus holds:

$$f(X_t) = f(X_0) + \sum_{i=1}^d \int_0^t \partial_{x_i} f(X_s) dX_s^i.$$

Examples include Brownian motion with Stratonovich integration and fractional Brownian motion with Hurst parameter strictly larger than 1/2 with Young integration. For further examples, see [4].

The iterated-integrals signature $S(X)_{0,T}$ defined by the expression (1) — now, using the given integration theory — is then a random variable. Let us assume that we can take its expectation level by level:

$$\mathbb{E} \left[\left\| \int_0^T \int_0^{r_n} \cdots \int_0^{r_2} dX_{r_1} \otimes \cdots \otimes dX_{r_n} \right\| \right] < +\infty.$$

The choice of norm in fact does not matter here but we will equip \mathbb{R}^d with the Euclidean norm and the projective norm $\|\cdot\|$ on $(\mathbb{R}^d)^{\otimes n}$ throughout this paper. We can then define expected signature level by level:

$$\begin{aligned} \text{ExpSig}(X)_T &:= \mathbb{E}_{\mathfrak{p}}[S(X)_{0,T}] \\ &:= \sum_{n=0}^{\infty} \mathbb{E} \left[\int_0^T \int_0^{r_n} \cdots \int_0^{r_2} dX_{r_1} \otimes \cdots \otimes dX_{r_n} \right] \in T((\mathbb{R}^d)), \end{aligned} \quad (2)$$

where $\mathbb{E}_{\mathfrak{p}}$ denotes the expectation level by level (\mathfrak{p} for ‘projective’) of a G -valued random variable. The question arises:

$\text{ExpSig}(X)$ completely characterize the law of X

The correspondence between X and $S(X)_{0,T}$ was studied in [1] and references therein. Here we will focus on

$\text{ExpSig}(X)_T$ completely characterize the law of $S(X)_{0,T}$ on G

A sufficient condition for this to be the case is given in [2]: if $\text{ExpSig}(X)_T$ has infinite radius of convergence, that is,

$$\sum_{n \geq 0} \|\text{proj}_n \text{ExpSig}(X)_T\| \lambda^n < +\infty, \quad (3)$$

for all $\lambda > 0$ then the law of $S(X)_{0,T}$ on G is the unique law with this (projective) expected value. Here $\text{proj}_n : T((\mathbb{R}^d)) \rightarrow (\mathbb{R}^d)^{\otimes n}$ denotes projection onto tensors of length n .

Let us give two examples. Let μ be a probability measure on \mathbb{R} having all moments and define

$$a_n := \int x^n \mu(dx).$$

Consider the stochastic process $X_t := tZ$, where Z is distributed according to μ . Since X is smooth, its signature is well defined and actually has the simple form

$$S(X)_{0,T} = 1 + TZ + \frac{T^2}{2!}Z^2 + \frac{T^3}{3!}Z^3 + \dots$$

Then

$$\text{ExpSig}(X)_T = 1 + Ta_1 + \frac{T^2}{2!}a_2 + \frac{T^3}{3!}a_3 + \dots,$$

and a sufficient condition for $\sum_n a_n T^n \lambda^n / n!$ to have infinite radius of convergence is $|a_n| \leq C^n$, for some $C > 0$.[†] Then [2, Proposition 6.1] applies, and the law of $S(X)_{0,T}$ on G is uniquely determined by these moments.

Consider now the expected signature of a standard Brownian motion B calculated up to some fixed time $T > 0$. It is known (see for example [9, Proposition 4.10]) that

$$\text{ExpSig}(B)_T = \exp\left(\frac{T}{2} \sum_{i=1}^d e_i \otimes e_i\right).$$

It follows that

$$\|\text{proj}_{2n} \text{ExpSig}(B)\| = \left\| \frac{T^n}{2^n n!} \left(\sum_{i=1}^d e_i \otimes e_i \right)^n \right\| \leq \frac{d^n T^n}{2^n n!},$$

and hence

$$\sum \|\text{proj}_n \text{ExpSig}(B)_T\| \lambda^n < +\infty, \quad (4)$$

for any $\lambda > 0$. Again, by [2, Proposition 6.1], the law of $S(B)_{0,T}$ is uniquely determined by $\text{ExpSig}(B)_T$. The condition (4) in fact holds more generally when B is a Gaussian process or a Markov process; see [2, 3, 12] for further details.

In this paper we study properties of the expected signature, not up to deterministic time T , but up to a *stopping time* τ . Concretely, we consider the Brownian motion B^z in \mathbb{R}^2 started at some point z in the unit circle $\mathbb{D} := \{z \in \mathbb{R}^2 : |z|_2 \leq 1\}$, and stopped at hitting the boundary, that is,

$$\tau := \inf \{t \geq 0 : B_t^z \in \partial\mathbb{D}\}, \quad (5)$$

with $|\cdot|_2$ denoting the Euclidean norm on \mathbb{R}^2 . In the notation introduced above, we are interested in

$$\Phi(z) := \text{ExpSig}(X^z)_\infty,$$

where $X_t^z := B_{t \wedge \tau}^z$. In [8] it was shown that for every $n \in \mathbb{N}$ and $n \geq 2$, the n th term of Φ satisfies the following PDE:

$$\Delta(\text{proj}_n(\Phi(z))) = -2 \sum_{i=1}^d e_i \otimes \frac{\partial \text{proj}_{n-1}(\Phi(z))}{\partial z_i} - \left(\sum_{i=1}^d e_i \otimes e_i \right) \otimes \text{proj}_{n-2}(\Phi(z)), \quad (6)$$

[†]The condition $|a_n| \leq C^n$ is of course more than enough in the classical moment problem to have uniqueness for the law μ on \mathbb{R} [13, Example X.6.4].

with the boundary condition that for each $|z|_2 = 1$,

$$\text{proj}_n(\Phi(z)) = \begin{cases} 0, & \text{if } n \geq 1 \\ 1, & \text{if } n = 0. \end{cases}$$

Additionally, one has $\text{proj}_0(\Phi(z)) = 1$ and $\text{proj}_1(\Phi(z)) = 0$ for all $z \in \mathbb{D}$. Using this, they were able to obtain the bound $\|\text{proj}_n(\Phi(z))\| \leq C^n$ for some $C > 0$ [8, Theorem 3.6]. This bound is *not* enough to decide whether the radius of convergence for $\text{ExpSig}(X^z)_\infty$ is infinite or not, but it is enough to deduce that $\text{ExpSig}(X^z)_\infty$ has radius of convergence strictly larger than 0. In this work we show that the radius of convergence is indeed finite.

Recall from [2, Proposition 6.1] that if A, B are G -valued random variables such that $\mathbb{E}_p[A] = \mathbb{E}_p[B]$ and $\mathbb{E}_p[A]$ has an infinite radius of convergence, then $A \stackrel{D}{=} B$. Our main theorem, proven in Section 6, is the following.

THEOREM. *The expected signature $\Phi(0) = \text{ExpSig}(X^0)_\infty = \mathbb{E}_p[S(X^0)_{0,\infty}]$ of a two-dimensional Brownian motion stopped upon exiting the unit disk has a finite radius of convergence.*

Inspired by [6, 10], we consider the map $M \in L(\mathbb{R}^2, L(\mathbb{R}^3, \mathbb{R}^3))$ defined by

$$M : \begin{pmatrix} x \\ y \end{pmatrix} \mapsto \begin{pmatrix} 0 & 0 & x \\ 0 & 0 & y \\ x & y & 0 \end{pmatrix}. \quad (7)$$

By [6, Lemma 3.1], one has

$$\|M\|_{L(\mathbb{R}^2, L(\mathbb{R}^3, \mathbb{R}^3))} = \sup_{|u|_2=1, |v|_2=1} |M(u)v|_2 = 1. \quad (8)$$

We may extend M as a continuous linear map on the k -times tensor product $(\mathbb{R}^2)^{\otimes k}$, by the following relation:

If $k = 0$, we take by convention that $(\mathbb{R}^d)^{\otimes 0} := \mathbb{R}$ and define

$$M(v) = 1 \quad \forall v \in \mathbb{R}. \quad (9)$$

For $k \geq 1$, if $v_1, \dots, v_k \in \mathbb{R}^2$, then

$$M(v_1 \otimes \dots \otimes v_k) = M(v_1) \cdots M(v_k). \quad (10)$$

Using (8) and the definition of projective norm, we see that

$$\|M(\text{proj}_n(\Phi(z)))\|_{L(\mathbb{R}^3, \mathbb{R}^3)} \leq \|\text{proj}_n(\Phi(z))\|.$$

Therefore, to show the finite radius of convergence theorem, it is sufficient to show that there exists $\lambda^* \in \mathbb{R}$ such that the matrix

$$\sum_{n=0}^{\infty} \lambda^n M(\text{proj}_n(\Phi(z))) \quad (11)$$

at $z = 0$ diverges as λ tends to a finite number λ^* .

We proceed as follows. In Section 2, for $\lambda > 0$ and sufficiently small, we show that the matrix given in (11) acting on $(0, 0, 1) \in \mathbb{R}^3$ is smooth in z and solves a certain PDE. Using rotational invariance of Brownian motion, in Section 3 we rewrite said PDE solution in polar coordinates. In Sections 4 and 5, we obtain an explicit solution for the PDE (still, for λ small enough) in terms of Bessel functions. Finally, in Section 6 we show that the solution blows up as $\lambda \rightarrow \lambda^*$

for some $\tilde{\lambda} < +\infty$, proving our main theorem. The Appendix contains some auxiliary results on PDEs.

2. Differentiability of the development of expected signature

We first need two technical lemmas which assert that the development of the expected signature is twice differentiable, and satisfies the PDE we expect it to. In Lemma 1 we will adopt the multi-index notation

$$|(\alpha_1, \alpha_2)| = |\alpha_1| + |\alpha_2|, \quad D^{(\alpha_1, \alpha_2)}u(z) = \frac{\partial^{\alpha_1 + \alpha_2} u}{\partial z_1^{\alpha_1} \partial z_2^{\alpha_2}}(z), \quad (\alpha_1, \alpha_2) \in \mathbb{N}^2.$$

The convergence of the following series:

$$(\lambda M)\Phi(z) = \sum_{n=0}^{\infty} \lambda^n M \text{proj}_n(\Phi(z))$$

for sufficiently small λ has been established in [8, Theorem 3.6].

LEMMA 1. *The function $z \mapsto \text{proj}_n(\Phi(z))$ is twice continuously differentiable. There exists a constant $C > 0$ such that for all $n \in \mathbb{N}$, all $z \in \mathbb{D}$ and all $\alpha \in \mathbb{N}^2$ satisfying $|\alpha| \leq 2$, one has the bound*

$$\|D^\alpha \text{proj}_n(\Phi(z))\| \leq C^n.$$

Moreover, there exists $\lambda^* > 0$ such that for all $\lambda < \lambda^*$

$$z \mapsto \sum_{n=0}^{\infty} \lambda^n M \text{proj}_n(\Phi(z))$$

is twice differentiable in z and if $|\alpha| \leq 2$, then

$$D^\alpha \sum_{n=0}^{\infty} \lambda^n M \text{proj}_n(\Phi(z)) = \sum_{n=0}^{\infty} \lambda^n D^\alpha M \text{proj}_n(\Phi(z)).$$

Proof. Let $m \in \mathbb{N}$. By Theorem A.5, the function $z \mapsto \text{proj}_n(\Phi(z))$ is twice continuously differentiable (it is in fact infinitely differentiable on \mathbb{D}). By Lemma A.4, there exists $C > 0$ such that for all $n \in \mathbb{N}$:

$$\|\text{proj}_n(\Phi)\|_{W^{m,2}(\mathbb{D})} \leq C^n, \tag{12}$$

where the norm $\|\cdot\|_{W^{m,2}(\mathbb{D})}$ is the Sobolev norm on the unit disc \mathbb{D} with respect to the variable z ,

$$\|u\|_{W^{m,2}(\mathbb{D})} = \max_{|\alpha|=m} \|D^\alpha u\|_{L^2(\mathbb{D})}.$$

Note that as Φ is twice continuously differentiable in a strong sense by [8, Theorem 3.2], the derivative D^α below may be taken in the strong sense.

By [8, Theorem 2.2], which bounds the values of a function u in terms of the Sobolev norm of u , there is some constant $\tilde{C}(2)$ such that for all $z \in \mathbb{D}$ and $|\alpha| \leq 2$,

$$\begin{aligned} |D^\alpha \text{proj}_n(\Phi(z))| &\leq \tilde{C}(2) \|D^\alpha \text{proj}_n(\Phi)\|_{W^{2,2}(\mathbb{D})} \\ &\leq \tilde{C}(2) \|\text{proj}_n(\Phi)\|_{W^{4,2}(\mathbb{D})} \\ &\leq \tilde{C}(2) C(4)^n. \end{aligned}$$

Since $M \operatorname{proj}_n(\Phi(z))$ is a linear image of $\operatorname{proj}_n(\Phi(z))$, the function $M \operatorname{proj}_n(\Phi(z))$ is twice continuously differentiable in z , and moreover, there exists $c > 0$ such that for all $z \in \mathbb{D}$,

$$|D^\alpha M \operatorname{proj}_n(\Phi(z))| \leq c^n.$$

This bound also allows us to deduce that for $|\alpha| = 2$, the series

$$\sum_{n=0}^{\infty} \lambda^n D^\alpha M \operatorname{proj}_n(\Phi(z))$$

converges uniformly and hence the series

$$\sum_{n=0}^{\infty} \lambda^n M \operatorname{proj}_n(\Phi(z))$$

is twice continuously differentiable and the derivatives can be taken inside the infinite summation. \square

LEMMA 2. *There exists $\lambda^* > 0$ such that if $\lambda < \lambda^*$, the function F_λ defined by*

$$F_\lambda(z) = (\lambda M)\Phi(z) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} = \sum_{n=0}^{\infty} \lambda^n M \operatorname{proj}_n(\Phi(z)) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} \quad (13)$$

is twice continuously differentiable on \mathbb{D} , and satisfies

$$\Delta F_\lambda(z) = -2\lambda \sum_{i=1}^2 M e_i \frac{\partial F_\lambda}{\partial z_i}(z) - \lambda^2 \left(\sum_{i=1}^2 (M e_i)^2 \right) F_\lambda(z) \quad (14)$$

with $F_\lambda(z) = (0, 0, 1)$ for $z \in \partial\mathbb{D}$. Here (e_1, e_2) denotes the canonical basis of \mathbb{R}^2 .

Proof. If we apply the linear map M to the PDE (6), then we have a matrix-valued PDE

$$\Delta(M \operatorname{proj}_n(\Phi(z))) = -2 \sum_{i=1}^2 M e_i \frac{\partial M \operatorname{proj}_{n-1}(\Phi(z))}{\partial z_i} - \left(\sum_{i=1}^2 (M e_i)^2 \right) M \operatorname{proj}_{n-2}(\Phi(z)), \quad (15)$$

together with the boundary condition

$$M \operatorname{proj}_0(\Phi(z)) = I_{3 \times 3}$$

$$M \operatorname{proj}_1(\Phi(z)) = 0_{3 \times 3}.$$

We may multiply both sides with λ^n , sum to infinity and apply to the vector $(0,0,1)$ to get

$$\begin{aligned} & \sum_{n=0}^{\infty} \lambda^n \Delta(M \operatorname{proj}_n(\Phi(z))) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} \\ &= -2\lambda \sum_{i=1}^2 M e_i \sum_{n=0}^{\infty} \lambda^n \frac{\partial}{\partial z_i} \operatorname{proj}_n(M\Phi(z)) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} - \lambda^2 \left(\sum_{i=1}^2 (M e_i)^2 \right) F_\lambda(z). \end{aligned}$$

By Lemma 1, each infinite sum converges and we may take the derivatives outside the infinite sum. \square

3. A polar decomposition for the development

Let $x = (x_1, x_2)^t \in \mathbb{R}^2$. Recall that

$$M(x) = \begin{pmatrix} 0 & 0 & x_1 \\ 0 & 0 & x_2 \\ x_1 & x_2 & 0 \end{pmatrix}.$$

We may consider $M(x)$ as a linear endomorphism of $\mathbb{R}^2 \oplus \mathbb{R}$ mapping (v, α) to $(\alpha x, \langle x, v \rangle)$.

LEMMA 3. For any linear map $R : \mathbb{R}^2 \rightarrow \mathbb{R}^2$,

$$M(R(x)) = (R \oplus 1)M(x)(R^* \oplus 1),$$

where R^* is the transpose of R .

Proof. Note that

$$\begin{aligned} (R \oplus 1)M(x)(R^* \oplus 1)(v, \alpha) &= (R \oplus 1)M(x)(R^*v, \alpha) = (R \oplus 1)(\alpha x, \langle x, R^*v \rangle) \\ &= (\alpha R(x), \langle x, R^*v \rangle) = (\alpha R(x), \langle Rx, v \rangle) = M(R(x)). \end{aligned} \quad \square$$

In what follows, we will use the notation

$$\Delta_n(0, t) = \{(t_1, \dots, t_n) : 0 < t_1 < \dots < t_n < t\}.$$

COROLLARY 4. Let $R : \mathbb{R}^2 \rightarrow \mathbb{R}^2$ be the rotation map

$$z \rightarrow \begin{pmatrix} \cos \theta & -\sin \theta \\ \sin \theta & \cos \theta \end{pmatrix} z.$$

Then there exists $\lambda^* > 0$ such that if $0 \leq \lambda < \lambda^*$, for all $z \in \mathbb{D}$,

$$(\lambda M)\Phi(R(z)) = (R \oplus 1)(\lambda M)\Phi(z)(R^* \oplus 1).$$

Proof. Brownian motion $B^{R(z)}$ starting at $R(z)$ has the same distribution as the rotated Brownian motion $R(B^z)$, where B^z starts from z . Let od denote the Stratonovich differential. Then

$$\begin{aligned} (\lambda M)\Phi(R(z)) &= \sum_{n=0}^{\infty} \lambda^n \mathbb{E}^{R(z)} \left[\int_{\Delta_n(0, \tau_{\mathbb{D}})} M(\text{od}B_{t_1}^z) \cdots M(\text{od}B_{t_n}^z) \right] \\ &= \sum_{n=0}^{\infty} \lambda^n \mathbb{E}^z \left[\int_{\Delta_n(0, \tau_{\mathbb{D}})} M(R(\text{od}B_{t_1}^z)) \cdots M(R(\text{od}B_{t_n}^z)) \right]. \end{aligned}$$

By Lemma 3

$$\begin{aligned} &\int_{\Delta_n(0, \tau_{\mathbb{D}})} M(R(\text{od}B_{t_1})) \cdots M(R(\text{od}B_{t_n})) \\ &= \int_{\Delta_n(0, \tau_{\mathbb{D}})} (R \oplus 1)M(\text{od}B_{t_1})(R^* \oplus 1) \cdots (R \oplus 1)M(\text{od}B_{t_n})(R^* \oplus 1). \end{aligned}$$

As R is orthogonal, we have

$$\begin{aligned} &\int_{\Delta_n(0, \tau_{\mathbb{D}})} M(R(\text{od}B_{t_1})) \cdots M(R(\text{od}B_{t_n})) \\ &= (R \oplus 1) \int_{\Delta_n(0, \tau_{\mathbb{D}})} M(\text{od}B_{t_1}) \cdots M(\text{od}B_{t_n})(R^* \oplus 1). \end{aligned}$$

Therefore,

$$\begin{aligned}
& (\lambda M)\Phi(R(z)) \\
&= (R \oplus 1) \sum_{n=0}^{\infty} \lambda^n \mathbb{E}^z \int_{\Delta_n(0, \tau_{\mathbb{D}})} M(\text{od}B_{t_1}^z) \cdots M(\text{od}B_{t_n}^z)(R^* \oplus 1) \\
&= (R \oplus 1)(\lambda M)\Phi(z)(R^* \oplus 1). \quad \square
\end{aligned}$$

COROLLARY 5. Define the functions $A_\lambda, B_\lambda, C_\lambda : [0, 1] \rightarrow \mathbb{R}$ by

$$\begin{pmatrix} A_\lambda(r) \\ B_\lambda(r) \\ C_\lambda(r) \end{pmatrix} = F_\lambda(r, 0), \quad (16)$$

where F_λ is the function defined by (13). In polar coordinates, the expression of F_λ reads

$$F(r \cos \theta, r \sin \theta) = \begin{pmatrix} \cos \theta & -\sin \theta & 0 \\ \sin \theta & \cos \theta & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} A_\lambda(r) \\ B_\lambda(r) \\ C_\lambda(r) \end{pmatrix}.$$

Additionally, there exists $\lambda^* > 0$ such that if $\lambda < \lambda^*$, then $A_\lambda, B_\lambda, C_\lambda$ are twice continuously differentiable functions in the variable r for all $r \in [0, 1]$.

Proof. The functions $A_\lambda, B_\lambda, C_\lambda$ are twice continuously differentiable because $F_\lambda(r, 0)$ is twice continuously differentiable by Lemma 2. Let $R : \mathbb{R}^2 \rightarrow \mathbb{R}^2$ be the rotation of angle θ . For $z = (r \cos \theta, r \sin \theta) = R(r, 0)$, the definition of F_λ gives

$$F_\lambda(z) = (\lambda M)\Phi(z) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} = (\lambda M)\Phi(R(r, 0)) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix}.$$

By Corollary 4, one has

$$F_\lambda(z) = (R \oplus 1)(\lambda M)\Phi(R(r, 0))(R^* \oplus 1) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} = (R \oplus 1)F_\lambda(r, 0),$$

where

$$R \oplus 1 = \begin{pmatrix} \cos \theta & -\sin \theta & 0 \\ \sin \theta & \cos \theta & 0 \\ 0 & 0 & 1 \end{pmatrix}. \quad \square$$

4. ODE for $A_\lambda, B_\lambda, C_\lambda$

LEMMA 6. There exists $\lambda^* > 0$ such that for $\lambda < \lambda^*$, the functions $A_\lambda, B_\lambda, C_\lambda$ defined in Lemma 5 satisfy

$$\begin{aligned}
r^2 A_\lambda''(r) + r A_\lambda'(r) - A_\lambda(r) + \lambda^2 r^2 A_\lambda(r) + 2\lambda r^2 C_\lambda'(r) &= 0 \\
r^2 B_\lambda''(r) + B_\lambda'(r)r - B_\lambda(r) + r^2 \lambda^2 B_\lambda(r) &= 0 \quad (17)
\end{aligned}$$

and

$$C_\lambda'(r) + r C_\lambda''(r) + 2\lambda^2 r C_\lambda(r) + 2\lambda r A_\lambda'(r) + 2\lambda A_\lambda(r) = 0$$

$$A_\lambda(0) = 0, B_\lambda(0) = 0, A_\lambda(1) = 0$$

$$C_\lambda'(0) = 0, B_\lambda(1) = 0, C_\lambda(1) = 1.$$

Proof. By Corollary 5,

$$F_\lambda \begin{pmatrix} r \cos \theta \\ r \sin \theta \end{pmatrix} = \begin{pmatrix} \cos \theta A_\lambda(r) - \sin \theta B_\lambda(r) \\ \sin \theta A_\lambda(r) + \cos \theta B_\lambda(r) \\ C_\lambda(r) \end{pmatrix}. \quad (18)$$

As $A_\lambda, B_\lambda, C_\lambda$ are twice continuously differentiable for $\lambda < \lambda^*$, we may substitute (18) for F_λ into the equation in Lemma 2, which gives for $r > 0$

$$\begin{aligned} \Delta \begin{pmatrix} F_\lambda^{(1)} \\ F_\lambda^{(2)} \\ F_\lambda^{(3)} \end{pmatrix} &= \begin{pmatrix} \partial_{rr} F_\lambda^{(1)} + \frac{1}{r} \partial_r F_\lambda^{(1)} + \frac{1}{r^2} \partial_{\theta\theta} F_\lambda^{(1)} \\ \partial_{rr} F_\lambda^{(2)} + \frac{1}{r} \partial_r F_\lambda^{(2)} + \frac{1}{r^2} \partial_{\theta\theta} F_\lambda^{(2)} \\ \partial_{rr} F_\lambda^{(3)} + \frac{1}{r} \partial_r F_\lambda^{(3)} + \frac{1}{r^2} \partial_{\theta\theta} F_\lambda^{(3)} \end{pmatrix} \\ &= \begin{pmatrix} \cos \theta A_\lambda''(r) - \sin \theta B_\lambda''(r) + \frac{1}{r} (\cos \theta A_\lambda'(r) - \sin \theta B_\lambda'(r)) \\ \quad + \frac{1}{r^2} (-\cos \theta A_\lambda(r) + \sin \theta B_\lambda(r)) \\ \sin \theta A_\lambda''(r) + \cos \theta B_\lambda''(r) + \frac{1}{r} (\sin \theta A_\lambda'(r) + \cos \theta B_\lambda'(r)) \\ \quad + \frac{1}{r^2} (-\sin \theta A_\lambda(r) - \cos \theta B_\lambda(r)) \\ C_\lambda''(r) + \frac{1}{r} C_\lambda'(r) \end{pmatrix}. \end{aligned} \quad (19)$$

Using the identities

$$\begin{aligned} \frac{\partial}{\partial z_1} &= \frac{\partial r}{\partial z_1} \frac{\partial}{\partial r} + \frac{\partial \theta}{\partial z_1} \frac{\partial}{\partial \theta} = \cos \theta \frac{\partial}{\partial r} - \frac{\sin \theta}{r} \frac{\partial}{\partial \theta}, \\ \frac{\partial}{\partial z_2} &= \frac{\partial r}{\partial z_2} \frac{\partial}{\partial r} + \frac{\partial \theta}{\partial z_2} \frac{\partial}{\partial \theta} = \sin \theta \frac{\partial}{\partial r} + \frac{\cos \theta}{r} \frac{\partial}{\partial \theta}, \end{aligned}$$

the right-hand side of (14) is

$$\begin{aligned} &\begin{pmatrix} -\lambda^2 \cos \theta A_\lambda(r) + \lambda^2 \sin \theta B_\lambda(r) - 2\lambda \cos \theta C_\lambda'(r) \\ -\lambda^2 \sin \theta A_\lambda(r) - \lambda^2 \cos \theta B_\lambda(r) - 2\lambda \sin \theta C_\lambda'(r) \\ -2\lambda^2 C_\lambda(r) - 2\lambda [\cos^2 \theta A_\lambda'(r) - \cos \theta \sin \theta B_\lambda'(r)] \\ \dots - 2\lambda \left[\frac{\sin \theta}{r} (\sin \theta A_\lambda(r) + \cos \theta B_\lambda(r)) \right] \\ \dots - 2\lambda [\sin^2 \theta A_\lambda'(r) + \sin \theta \cos \theta B_\lambda'(r)] \\ \dots - 2\lambda \left[\frac{\cos \theta}{r} \cos \theta A_\lambda(r) - \frac{\cos \theta}{r} \sin \theta B_\lambda(r) \right] \end{pmatrix} \\ &= \begin{pmatrix} -\lambda^2 \cos \theta A_\lambda(r) + \lambda^2 \sin \theta B_\lambda(r) - 2\lambda \cos \theta C_\lambda'(r) \\ -\lambda^2 \sin \theta A_\lambda(r) - \lambda^2 \cos \theta B_\lambda(r) - 2\lambda \sin \theta C_\lambda'(r) \\ -2\lambda^2 C_\lambda(r) - 2\lambda A_\lambda'(r) - \frac{2\lambda}{r} A_\lambda(r) \end{pmatrix}. \end{aligned} \quad (20)$$

Equating (19) and (20) gives the first equation as

$$\begin{aligned} &\cos \theta A_\lambda''(r) - \sin \theta B_\lambda''(r) + \frac{1}{r} (\cos \theta A_\lambda'(r) - \sin \theta B_\lambda'(r)) \\ &\quad + \frac{1}{r^2} (-\cos \theta A_\lambda(r) + \sin \theta B_\lambda(r)) \\ &= -\lambda^2 \cos \theta A_\lambda(r) + \lambda^2 \sin \theta B_\lambda(r) - 2\lambda \cos \theta C_\lambda'(r). \end{aligned}$$

As this holds for all θ , we may equate the coefficients of $\sin \theta$ and $\cos \theta$ to obtain

$$\begin{aligned} &A_\lambda''(r) + \frac{A_\lambda'(r)}{r} - \frac{1}{r^2} A_\lambda(r) = -\lambda^2 A_\lambda(r) - 2\lambda C_\lambda'(r) \\ &-B_\lambda''(r) - \frac{1}{r} B_\lambda'(r) + \frac{1}{r^2} B_\lambda(r) = \lambda^2 B_\lambda(r) \end{aligned} \quad (21)$$

and from the second equation,

$$\begin{aligned} & \sin \theta A_\lambda''(r) + \cos \theta B_\lambda''(r) + \frac{1}{r}(\sin \theta A_\lambda'(r) + \cos \theta B_\lambda'(r)) \\ & + \frac{1}{r^2}(-\sin \theta A_\lambda(r) - \cos \theta B_\lambda(r)) \\ & = -\lambda^2 \sin \theta A_\lambda(r) - \lambda^2 \cos \theta B_\lambda(r) - 2\lambda \sin \theta C_\lambda'(r) \end{aligned}$$

and therefore,

$$\begin{aligned} A_\lambda''(r) + \frac{1}{r}A_\lambda'(r) - \frac{1}{r^2}A_\lambda(r) &= -\lambda^2 A_\lambda(r) - 2\lambda C_\lambda'(r) \\ B_\lambda''(r) + \frac{B_\lambda'(r)}{r} - \frac{B_\lambda(r)}{r^2} &= -\lambda^2 B_\lambda(r). \end{aligned} \quad (22)$$

Combining (21) and (22) and multiplying the equations throughout by r^2 , we have

$$\begin{aligned} r^2 A_\lambda''(r) + r A_\lambda'(r) - A_\lambda(r) + \lambda^2 r^2 A_\lambda(r) + 2\lambda r^2 C_\lambda'(r) &= 0 \\ r^2 B_\lambda''(r) + B_\lambda'(r)r - B_\lambda(r) + r^2 \lambda^2 B_\lambda(r) &= 0 \\ C_\lambda'(r) + r C_\lambda''(r) + 2\lambda^2 r C_\lambda(r) + 2\lambda r A_\lambda'(r) + 2\lambda A_\lambda(r) &= 0 \end{aligned} \quad (23)$$

for all $r > 0$. By continuity of the second derivatives of $A_\lambda, B_\lambda, C_\lambda$ (see Lemma 5), the equations hold for all $r \geq 0$. Again, using the continuity of the second derivatives of $A_\lambda, B_\lambda, C_\lambda$, we may substitute $r = 0$ into (23) to get

$$A_\lambda(0) = B_\lambda(0) = C_\lambda'(0) = 0.$$

Using the boundary conditions for $z \in \partial\mathbb{D}$ in Lemma 2, we have

$$\begin{pmatrix} A_\lambda(1) \\ B_\lambda(1) \\ C_\lambda(1) \end{pmatrix} = F_\lambda(1, 0) = \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix}. \quad \square$$

5. Solving the ODE for $A_\lambda, B_\lambda, C_\lambda$

LEMMA 7. *Let*

$$\zeta = \sqrt{\frac{-1 + i\sqrt{7}}{2}}, \quad \alpha = \frac{1}{2}\zeta^3 + \zeta, \quad d(\lambda) = \operatorname{Im}(\bar{\alpha}J_0(\lambda\zeta)J_1(\lambda\bar{\zeta})), \quad (24)$$

where J_0, J_1 are the Bessel functions of the first kind. Fix $\lambda > 0$ such that $d(\lambda)J_1(\lambda) \neq 0$. Then the real-valued functions defined for all $r > 0$ by [†]

$$A_\lambda(r) = \frac{2\sqrt{2}}{d(\lambda)} \operatorname{Im}(J_1(\lambda\bar{\zeta})J_1(\lambda\zeta r)), \quad B_\lambda(r) = 0, \quad C_\lambda(r) = \frac{1}{d(\lambda)} \operatorname{Im}(\bar{\alpha}J_1(\lambda\bar{\zeta})J_0(\lambda\zeta r)) \quad (25)$$

are the unique solution of the differential system (17) satisfying the boundary conditions stated in Lemma 6.

Proof. Recall that, for $\nu = 0, 1$, Bessel's differential equation

$$x^2 y''(x) + xy'(x) + (x^2 - \nu^2)y(x) = 0, \quad (26)$$

[†]Note that the two determinations of the square root in the definition of ζ yield the yield the same A_λ, B_λ and C_λ .

has a canonical basis of solutions consisting of the ordinary Bessel functions $J_\nu(x)$ and $Y_\nu(x)$ [11, §10.2]. The function J_ν is entire, while Y_ν is analytic on $\mathbb{C} \setminus \mathbb{R}_-$, and $Y_\nu(x)$ diverges to $-\infty$ as $x \rightarrow 0$ along the positive reals.

Let \mathcal{C}_ν denote a cylinder function, that is, a linear combination $aJ_\nu + bY_\nu$ with coefficients a, b that do not depend on ν [11, §10.2(ii)]. One has [11, (10.6.2), (10.6.3)]

$$\mathcal{C}'_0(x) = -\mathcal{C}'_1(x), \quad x\mathcal{C}'_1(x) + \mathcal{C}_1(x) = x\mathcal{C}_0(x). \quad (27)$$

The equation for B_λ is exactly Bessel's equation with $\nu = 1$ and $x = \lambda r$; its general solution for $r > 0$ is hence $B_\lambda(r) = \mathcal{C}_1(\lambda r)$. Since $Y_1(x)$ diverges as $x \rightarrow 0$ and λ is nonzero, the initial condition at 0 forces $b = 0$. Similarly, the initial condition at 1 implies $a = 0$ and therefore $B_\lambda = 0$, unless $J_1(\lambda) = 0$, in which case any $B_\lambda(r) = aJ_1(\lambda r)$ is a solution.

Let us turn to the coupled equations for A_λ and C_λ . Make the ansatz

$$C_\lambda(r) = f_0(r), \quad A_\lambda(r) = \alpha f_1(r), \quad f_\nu(r) = \mathcal{C}_\nu(\lambda \zeta r), \quad (28)$$

where α, ζ are yet unspecified complex numbers. The equation involving C''_λ becomes

$$r f''_0(r) + f'_0(r) + 2\lambda^2 r f_0(r) + 2\lambda\alpha(r f'_1(r) + f_1(r)) = 0. \quad (29)$$

The change of variable passing from \mathcal{C}_0 to f_0 transforms Bessel's equation into

$$r f''_0(r) + f'_0(r) + \lambda^2 \zeta^2 r f_0(r) = 0,$$

and the relations (27) yield $r f'_1(r) + f_1(r) = \lambda \zeta r f_0(r)$, so (29) holds when

$$\lambda^2 \zeta^2 r = 2\lambda^2 r + 2\lambda\alpha \cdot \lambda \zeta r,$$

that is, when $\zeta^2 = 2(1 + \alpha\zeta)$.

Similarly, the equation involving A''_λ rewrites as

$$r^2 \alpha f''_1(r) + r \alpha f'_1(r) + (\lambda^2 r^2 - 1) \alpha f_1(r) + 2\lambda r^2 f'_0(r) = 0, \quad (30)$$

and the last term on the left-hand side is equal to $2\lambda^2 \zeta r^2 f_1(r)$ by (27). Thus, (30) reduces to Bessel's equation provided that $\zeta^2 = 1 - 2\alpha^{-1}\zeta$.

In summary, the functions (28) define a solution of (17) for any choice of a, b in the definition of \mathcal{C}_ν and α, ζ such that $\zeta^2 = 2(1 + \alpha\zeta) = 1 - 2\alpha^{-1}\zeta$. The latter condition is equivalent to

$$\zeta^4 + \zeta^2 + 2 = 0, \quad \alpha = \zeta^3/2 + \zeta.$$

Letting ζ now denote a fixed root of $\zeta^4 + \zeta^2 + 2$, say the one in (24), the choices

$$C_\lambda(r) = J_0(\lambda \zeta r), J_0(\lambda \bar{\zeta} r), Y_0(\lambda \zeta r), Y_0(\lambda \bar{\zeta} r) \quad (31)$$

provide us with four linearly independent[†] solutions, which hence form a basis of the solution space of the system of two linear differential equation of order two.

The asymptotic behaviour of Y_1 at the origin, $Y_1(\lambda \zeta r) \sim -2(\pi \lambda \zeta r)^{-1}$ [11, (10.7.4)], shows that linear combinations involving any of the last two solutions (31) are incompatible with the conditions $A_\lambda(0) = C'_\lambda(0) = 0$. Therefore, one has

$$C_\lambda(r) = u J_0(\lambda \zeta r) + v J_0(\lambda \bar{\zeta} r),$$

$$A_\lambda(r) = u \alpha J_1(\lambda \zeta r) + v \bar{\alpha} J_1(\lambda \bar{\zeta} r)$$

for some $u, v \in \mathbb{C}$. The conditions $A_\lambda(1) = 0, C_\lambda(1) = 1$ translate into a linear system for u, v of determinant

$$\bar{\alpha} J_0(\lambda \zeta) J_1(\lambda \bar{\zeta}) - \alpha J_1(\lambda \zeta) J_0(\lambda \bar{\zeta}) = 2id(\lambda)$$

(where we have used the fact that $J_\nu(\bar{z}) = \overline{J_\nu(z)}$ [11, (10.11.9)]). When $d(\lambda) \neq 0$, the unique solution is $u = -\bar{v} = \bar{\alpha} J_1(\lambda \bar{\zeta})$. Since $|\alpha|^2 = 2\sqrt{2}$, this leads to the expressions (25). \square

[†]This follows, for instance, from the expressions [11, (10.2.2), (10.8.1)] and the fact that $(\lambda \zeta)^2 \neq 1$.

6. Conclusion

LEMMA 8. *In the notation of Lemma 7, there exists $\tilde{\lambda} > 0$ such that $C(0)$, viewed as a function of λ , has a pole at $\tilde{\lambda}$.*

Proof. Let us first show that $d(\lambda)$ has a zero lying in the interval $(2.5, 3)$. Consider the series expansions [11, (10.2.2)]

$$J_0(x) = \sum_{k=0}^{\infty} (-1)^k \frac{(x/2)^{2k}}{k!^2}, \quad J_1(x) = \sum_{k=0}^{\infty} (-1)^k \frac{(x/2)^{2k+1}}{k!(k+1)!}. \quad (32)$$

For $x \in \mathbb{C}$ and $n \in \mathbb{N}$ such that $|x| < 2(n+1)$, the remainders starting at index n of both series are bounded by

$$\sum_{k=n}^{\infty} \frac{|x/2|^{2k}}{k!^2} = \frac{|x/2|^{2n}}{n!^2} \sum_{k=n}^{\infty} \frac{|x/2|^{2(k-n)}}{((n+1) \cdots (n+k))^2} \leq \frac{1}{1 - |x|^2/(2n+2)^2} \frac{|x/2|^{2n}}{n!^2}. \quad (33)$$

In particular, for $x = \lambda\zeta$ or $x = \lambda\bar{\zeta}$ with $0 < \lambda \leq 3$, we have $|x/2| < 1.784$. For $n = 5$, the quantity (33) is bounded by 0.025. By replacing J_0 and J_1 by the first five terms of the series (32) in the expression of $d(\lambda)$ and propagating this bound by the triangle inequality, one can check that $d(2.5) < -0.06$. A similar calculation shows that $d(3) > 0.03$. Since $d(\lambda)$ is a continuous function of λ , it follows that $d(\tilde{\lambda})$ vanishes for some $\tilde{\lambda} \in (2.5, 3)$.

We still need to check that the numerator of $C_\lambda(0)$ in (25) does not vanish at $\tilde{\lambda}$. One has $J_0(0) = 1$. Taking $n = 3$ in (33) yields an expression of the form

$$\operatorname{Im}(\bar{\alpha}J_1(\lambda\bar{\zeta})) = \operatorname{Im}(c_0\lambda + c_1\lambda^3 + c_2\lambda^5 + \bar{\alpha}b), \quad |b| \leq 1.12,$$

where one can check that $\operatorname{Im}(c_0) < -0.33$, $\operatorname{Im}(c_1) < -0.12$, $\operatorname{Im}(c_2) < -0.001$. For all $\lambda \geq 2.5$, this implies

$$\operatorname{Im}(\bar{\alpha}J_1(\lambda\bar{\zeta})) \leq \operatorname{Im}(c_0)\lambda + \operatorname{Im}(c_1)\lambda^3 + |\alpha||b| \leq -1.3.$$

The claim follows. \square

REMARK 9. Instead of doing the calculation sketched in the proof manually, one can easily prove the result using a computer implementation of Bessel functions that provides rigorous error bounds. For example, using the interval arithmetic library Arb [7] via SageMath, the check that $d(\lambda)$ has a zero goes as follows. The quantities of the form $[x.xxx \pm \text{eps}]$ appearing in the output are guaranteed to be rigorous enclosures of the corresponding real quantities. We check the presence of a zero in the interval $[2.82, 2.83]$ instead of $[2.5, 3.0]$ because having a tighter estimate simplifies the second step.

```
sage: zeta = CBF(sqrt((-1+I*sqrt(7))/2))
sage: alpha = zeta^3/2 + zeta
sage: lb, ub = CBF(282/100), CBF(283/100)
sage: (alpha.conjugate()*(lb*zeta).bessel_J(0)
.....:      *(lb*zeta.conjugate()).bessel_J(1))
[-13.208370024264 +/- 4.16e-13] + [-0.003639973760 +/- 4.63e-13]*I
sage: (alpha.conjugate()*(ub*zeta).bessel_J(0)
.....:      *(ub*zeta.conjugate()).bessel_J(1))
[-13.424373315124 +/- 4.75e-13] + [0.005782411521 +/- 4.38e-13]*I
```

One can then verify as follows that the image by the function $\lambda \mapsto \bar{\alpha}J_1(\lambda\bar{\zeta})$ of the interval $[2.82, 2.83]$ only contains elements of negative imaginary part.

```
sage: crit = lb.union(ub); crit # convex hull (real interval)
[2.8 +/- 0.0301]
sage: alpha.conjugate()*(crit*zeta.conjugate()).bessel_J(1)
[+/- 0.0707] + [-4e+0 +/- 0.303]*I
```

THEOREM 10. *The series expansion with respect to λ of $\Phi(0)$ has a finite radius of convergence.*

REMARK 11. Since the condition of [2] of uniqueness of laws is only *sufficient*, the question remains on whether there exists another law on G having the same moments as $S(X^0)_{0,T}$.

Proof. Assume for contradiction that $\Phi(0)$ has an infinite radius of convergence. Then $F_\lambda(0)$ is an entire function in λ . We also know from Corollary 5 that there exists $\lambda^* > 0$ such that for real $\lambda < \lambda^*$

$$F_\lambda(0) = \begin{pmatrix} \cos \theta & -\sin \theta & 0 \\ \sin \theta & \cos \theta & 0 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} A_\lambda(0) \\ B_\lambda(0) \\ C_\lambda(0) \end{pmatrix}, \quad (34)$$

where $A_\lambda, B_\lambda, C_\lambda$ are defined by Lemma 7. By the Identity theorem, $A_\lambda, B_\lambda, C_\lambda$ are entire functions and (34) holds for all λ . This contradicts Lemma 8, and therefore $\Phi(0)$ has a finite radius of convergence. \square

Appendix

Let Γ be a domain in \mathbb{R}^d .

DEFINITION A.1. Let u be a locally integrable function in Γ and α be a multi-index. Then a locally integrable function $r_\alpha u$ such that for every $g \in C_c^\infty(\Gamma)$,

$$\int_\Gamma g(x) r_\alpha(x) dx = (-1)^{|\alpha|} \int_\Gamma D^\alpha g(x) u(x) dx,$$

will be called *weak derivative* of u and r_α is denoted by $D^\alpha u$. By convention, $D^\alpha u = u$ if $|\alpha| = 0$.

DEFINITION A.2. Let $\tilde{d} \in \mathbb{N}$. The *Sobolev space* $W^{k,p}(\Gamma)$ for $p, k \in \mathbb{N}$ is defined to be the set of all $\mathbb{R}^{\tilde{d}}$ -valued functions $u = (u^1, \dots, u^{\tilde{d}}) \in L^p(\Gamma)$ such that for every multi-index α with $|\alpha| \leq k$, the weak partial derivative $D^\alpha u$ belongs to $L^p(\Gamma)$, that is,

$$W^{k,p}(\Gamma) = \{u \in L^p(\Gamma) : D^\alpha u \in L^p(\Gamma) \forall |\alpha| \leq k\}.$$

It is endowed with the Sobolev norm defined as follows:

$$\|u\|_{W^{k,p}(\Gamma)} = \sum_{j=1}^{\tilde{d}} \left(\sum_{|\alpha| \leq k} \int_\Gamma |D^\alpha u^j(x)|^p dx \right)^{1/p}.$$

When $k = 0$, this norm coincides with the $L^p(\Gamma)$ -norm, that is,

$$\|u\|_{W^{0,p}(\Gamma)} = \|u\|_{L^p(\Gamma)}.$$

THEOREM A.3. *Let M be a second order differential operator with coefficients $\{a^{i,j}\}$. Let u be a weak solution of*

$$\begin{aligned} Mu &= f(x), \\ u - g &\in H_0^{1,2}(\Gamma). \end{aligned}$$

Let Γ be a bounded domain of class C^{k+2} and let the coefficients of M be of class $C^{k+1}(\bar{\Gamma})$. Suppose that the following ellipticity condition holds: there exists $\lambda > 0$ such that for all $x \in \Gamma$ and all $\xi = (\xi_1, \dots, \xi_d) \in \mathbb{R}^d$

$$\sum_{i,j=1}^d a^{i,j}(x) \xi_i \xi_j \geq \lambda |\xi|^2.$$

Let $f \in W^{k,2}(\Gamma)$, $g \in W^{k+2,2}(\Gamma)$. Then

$$\|u\|_{W^{k+2,2}(\Gamma)} \leq c(\|f\|_{W^{k,2}(\Gamma)} + \|g\|_{W^{k+2,2}(\Gamma)}),$$

with c depending on λ, d, Γ and on the C^{k+1} -norms for the $a^{i,j}$.

Proof. It is proved using [5, Theorem 8.13] and setting the boundary condition $\varphi = 0$. \square

In the following we prove Lemma A.4 for $m \geq 2$, which is a generalization of Lemma 3.11 for the case $m = \lfloor \frac{d}{2} \rfloor$ in [8].

LEMMA A.4. *Let Γ be a bounded domain of class C^m in \mathbb{R}^d , where $m \geq 2$. Then there exists a constant C only depending on Γ and d , such that for every positive integer $n \geq 2$,*

$$\|\text{proj}_n(\Phi)\|_{W^{m,2}(\Gamma)} \leq C(\|\text{proj}_{n-1}(\Phi)\|_{W^{m,2}(\Gamma)} + \|\text{proj}_{n-2}(\Phi)\|_{W^{m,2}(\Gamma)}). \quad (\text{A.1})$$

Proof. The proof of [8, Lemma 3.11] can be applied here directly, except for that we need to check that $\text{proj}_n(\Phi) \in W^{m,2}$, which is proved in Theorem A.5. \square

THEOREM A.5. *Suppose that Γ is a nonempty bounded domain in E . It follows Φ is infinitely differentiable in componentwise sense, that is, for all index I , $\text{proj}_n \circ \Phi$ is infinitely differentiable for all n .*

Proof. Based on [8, Theorem 3.2], it shows that

$$\Phi(z) = \int_{\Gamma} G_{\varepsilon}(z-y) \otimes \Phi_{\Gamma}(y) dy = G_{\varepsilon} * \Phi(z),$$

where $K_{\varepsilon}(r)$ is a smooth distribution with compact support $[0, \frac{\varepsilon}{2}]$, $*$ is the convolution, and G_{ε} be a map from \mathbb{R}^d to $T(\mathbb{R}^d)$ defined by

$$\Psi(z) = \Psi(z) = \mathbb{E}^0 \left[S(B_{[0, \tau_{\mathbb{D}(0,|z|)}]}) | B_{\tau_{\mathbb{D}(0,|z|)}} = z \right].$$

$$G_{\varepsilon}(z) = \Psi(-z) K_{\varepsilon}(|z|).$$

Since Ψ is smooth (in polynomial form) and K_{ε} is a smooth function with compact support, G_{ε} is a smooth function with compact support. It is easy to show that for any partial derivative $D^{\alpha} G_{\varepsilon}$ is L_1 integrable.

$$\|D^{\alpha} G_{\varepsilon}\|_{L^1} < +\infty.$$

On the other hand, $\Phi \in L^1$ as well, and so we have

$$\|G_{\varepsilon} * D^{\alpha} \Phi\|_{L^1} < +\infty.$$

Thus $G_{\varepsilon} * \Phi$ is infinitely differentiable, since $D^{\alpha} \Phi = (D^{\alpha} G_{\varepsilon}) * \Phi \in L^1$. \square

Acknowledgement. We would like to thank the two anonymous referees for their careful reading and suggestions which improved the introduction as well as the overall clarity of the article.

Open access funding enabled and organized by Projekt DEAL.

References

1. H. BOEDIHARDJO, X. GENG, T. LYONS and D. YANG, ‘The signature of a rough path: uniqueness’, *Adv. Math.* 293 (2016) 720–737.
2. I. CHEVYREV and T. LYONS, ‘Characteristic functions of measures on geometric rough paths’, *Ann. Probab.* 44 (2016) 4049–4082.
3. P. FRIZ and S. RIEDEL, ‘Convergence rates for the full Gaussian rough paths’, *Ann. Inst. H. Poincaré Probab. Statist.* 50 (2014) 154–194.
4. P. K. FRIZ and N. B. VICTOIR, *Multidimensional stochastic processes as rough paths: theory and applications*, vol. 120 (Cambridge University Press, Cambridge, 2010).
5. D. GILBARG and N. S. TRUDINGER, *Elliptic partial differential equations of second order* (Springer, Berlin, 2015).
6. B. M. HAMBLY and T. J. LYONS, ‘Stochastic area for Brownian motion on the Sierpinski gasket’, *Ann. Probab.* 26 (1998) 132–148.
7. F. JOHANSSON, ‘Efficient arbitrary-precision midpoint-radius interval arithmetic’, *IEEE Trans. Comput.* 66 (2017) 1281–1292.
8. T. LYONS and H. NI, ‘Expected signature of Brownian motion up to the first exit time from a bounded domain’, *Ann. Probab.* 43 (2015) 2729–2762.
9. T. LYONS and N. VICTOIR, ‘Cubature on wiener space’, *Proc. R. Soc. Lond. Ser. A Math. Phys. Eng. Sci.* 460 (2014) 169–198.
10. T. J. LYONS and W. XU, ‘Hyperbolic development and inversion of signature’, *J. Funct. Anal.* 272 (2017) 2933–2955.
11. F. W. OLVER, D. W. LOZIER, R. F. BOISVERT and C. W. CLARK (eds). *NIST handbook of mathematical functions* (Cambridge University Press, New York, 2010). <http://dlmf.nist.gov/>.
12. R. PASSEGGERI, ‘On the signature and cubature of the fractional Brownian motion for $h > 1/2$ ’, *Stochastic Process. Appl.* 130 (2019) 1226–1257.
13. M. REED and B. SIMON, *Fourier analysis, II: self-adjointness*, vol. 2 (Elsevier, Amsterdam, 1975).
14. K. SCHMÜDGEN, *The moment problem*, vol. 9 (Springer, Berlin, 2017).

Horatio Boedihardjo
 Department of Statistics
 University of Warwick
 Coventry CV4 7AL
 United Kingdom

horatio.boedihardjo@warwick.ac.uk

Marc Mezzarobba
 Laboratoire d’informatique de Paris 6
 CNRS Sorbonne Université
 LIP6, Campus Pierre et Marie Curie
 Paris F-75005
 France

marc@mezzarobba.net

Joscha Diehl
 Institut für Mathematik und Informatik
 Universität Greifswald
 Walther-Rathenau-Str. 47
 Greifswald D-17489
 Germany

joscha.diehl@gmail.com

Hao Ni
 Mathematics Department
 University College London
 Gower Street
 London WC1E 6BT
 United Kingdom

h.ni@ucl.ac.uk